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Rather by an unspecified boat and this wine; if he did — 771°20 K102
not give, why should he not give; let him say, ‘give me wine and I will
bring a boat

Overview!

The X1 asked, in the case of the sunken ship and wine, where the 7°Dwn said 711°50
ano and the 72w said 77 1, why is the ruling that if he did not pay the rental, he is
not obligated to pay, seemingly he should be obligated to pay since the 7°>wn can
argue, ‘bring me the wine (which the 75w cannot, since it sunk [and he said 77 1°]),
and [ will bring a boat’ (which the 2°5wn can, since he said ano 71°90).
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There is no doubt (in this case) that if the 72w already paid the rental, that he
cannot take it back, rather the X72) is asking even if he did not pay the rental yet,

the 70w should be obligated to pay the entire rental (for the whole way) -
= 119901 NN 99IUN 2NPWUNA MIaYN DI 999YNN NIP 29NV

for the 7°>wn is owed the entire rental payment when the 22 pulled the boat -
- NI DYDY VPIUNN YPINNY 1

Since the 9%5wn is ready to fulfill his stipulation to transport the wine to the designated
destination.

mooIn offers an alternate explanation® why the 727w is obligated to pay the entire rental:
= 0PY D199 99N 991V ININ DPY D192 9OVUNY 115 NDIWN NDA 1DIAN IN

Alternately, the 222 is obligated to pay the rent even without 75w, since the

ssown» can fulfill his obligation (to provide a boat) and the 922 cannot fulfill his

obligation (to provide the stipulated wine since it sunk), so -
= 5512 D95 9N NIY 7971 28NN 1T 15 12 AN MM 09 D 15 ON

Therefore it is the ™ of the 10w which caused this mishap, so it is like an

!'See ‘Overview’ to X% 7"7 'on.
2 One acquires a movable object (including a 77°90), by pulling the object — 2>wn 1°3p. This Pap is valid for rentals as
well as for purchases. Once the 731 made the 72°wn, he becomes the 71212 and is obligated to pay the entire NM7°w.
3 This explanation assumes that we dismiss the idea of 7071 n2°wn (perhaps because there was no 73°wn).
45 literally means constellation; referring to the astrological signs. In the vernacular it means ‘luck’.
5512 Y3 literally, ‘like an idle worker” is the amount of money a worker would be willing to accept and not have to
work. If for instance he receives ten 0°117 a day for work; he would be willing to accept eight o°111 (for instance) and
not have to work. Here too the 719077 9¥2 does not have to work for the second half of the trip (they are not taking it),
therefore he is compensated 702 5193, Presumably the 20w is the captain of the ship and he sails with it.
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employer who retracted from hiring an employee,® in which case the 72w should
be required to pay him %u2 219> for the half way, which he did not go.

mMooIN asks:
= 70N IWIIRY 1979 DA HINDD IT2AN 10N ROW 7970 2811 DD 1D 19 ININT DY)

And there is a difficulty; for why should the 121w pay him anything, even »¥195

bw3, for the half way which he did not go, since it was an unavoidable accident -
- AMPYNY TO9N PNRT NIV ROINT DIIN 99IWNT NI 1y 91 I999 19990N NN

For we said previously in a case where the employer was an 1R, for the rain

came so it was not necessary to irrigate the field, the rule is -
- DOUNDT NTOD M1

That it is the loss of the workers, and the employer is exempt from paying anything -
- DYUNDN P I $1Y 1Y 1A NI 1H1PaN H¥AY YINY DIN 997 9985 yaun)

And it seems previously in the X723 that any o13% which happened to the

employer that he could not know any more than the workers that it would happen (as

in the case of rain, where everyone was equally aware that it may rain) -
- DT TP NN

It is the loss of the workers, so why is the 721 obligated for the second half of the trip, since
it is an 01X (he was no more aware than the 725077 5v2 that it may sink)?!

mooIN responds to an anticipated resolution to his question: '
197 RHY 7997 58N 99Y 192N 1NY 7599 TN DY 913 XOM)

And also here, perforce the X7 is asking that he should pay the rental, even for

the half way that he did not go. noown proves his contention -
= 12555 5105 XY 195V D5 1N ON Hynwng 5100 XD 1N ONX NPT RN 7D NN

Since the X773 is satisfied with what is stated that if he paid, he cannot take it

¢ The employer who reneges on his employee and cannot give him the work that he promised, must pay the worker
511 93192, See previously 2,w. Here the 171 9v2 is considered the employer (he is hiring the 72°507 5v2 to transport his
wine); since the 1°71 9v2 cannot give his worker (the 712°9077 Hv2) work (the 71 1 sunk) he must pay him %02 5¥193.
7 An employer must pay 2 9¥192, only if he reneged or was at fault for not informing the workers, but not if he is an
DIX, on par equally with the employees.
8 He hired workers to irrigate his field and during the night it rained, so there was no need for the workers to irrigate.
The employer and the employees were both aware that it may rain and their work will not be necessary. The 2"7v2 is
an 01X; he knew what the 0°23% knew.
% See XNXY 7"70 K, 1Y 'OIN.
10 Perhaps when the X3 asked, '1n° X7 "XaR 101 X7 OX', the X3 was discussing the first half of the way, not the second
half, therefore Mo0In has no question, for he took him the first half the way.
11 See (the end of) the previous ¥2°2°k 7"7 '01n [TIE after footnote # 9]. See ‘Thinking it over’.
12 1f we assume (as mentioned in footnote # 10) that we are discussing the first half only, so why did not the X n3 ask,
why is the rule 592 91 X7 101 oX; he should receive back the payment for the second half!
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back, which indicates that if he paid the entire rental, he cannot take anything

back (even for the half that he did not go). The question remains why does he have to pay for the
second half, since it was an DIIX.

moon answers by distinguishing between the workers and the n1°50:
- D95 DAY 1N PR ITLANIY P9 10193 1TAN KY DYDY D857 13103 92 1 NHDY %29 XM

And the 3"2%% answered, that previously where the workers did not lose
anything, they were merely idle from work, therefore the employer pays them

nothing since it was an 01X (that they were both equally (un)aware of) -
$INIDN DPY DIV 1920 NPY NN XN HVA HINDD 15903990 TP09N PIUNNY NN VAN

However here where the 295w lost his boat, he deserves to receive at least ®»19>
buz, since he is ready to fulfill his obligation.

Summary
Where the employer and employee were both equally aware of a possible calamity,

the employer need not pay, unless the employee suffered an actual loss, where he is
paid Hv2 ¥195.

Thinking it over

It seems from npoIN than when the X713 asked 0° XY SXMX N1 XY R, it can be
construed to mean that he should pay for the first half only;!® however when the
Xn>>72 stated 710> XS 103 OX it means that even if he paid for everything he receives
nothing back.!” Why, therefore does mooIn not ask his question directly on the xw™
of the &Xn>13; ‘why is it that 592 71v° RS 101 ok, why should he not receive back the
rental for the second half” (instead of asking on the ¥9°0 and need to prove from the
Xw™ that he is required to pay for the second half)?!'8

13 The 1"21 was s""w son-in-law. (See 1"2°771 NNO1 on the margin to 713 NooA.)
14 They lost their anticipated wages but they did not lose anything which was theirs. This is called M7 nyom.
15 The 71°0071 7v2 lost the 7190 on account of the 197 (he was transporting his wine); however the 7771 5v2 lost his wine
because he wanted to transport it not because the 71507 9¥2 asked him to transport it.
16 See footnote # 10.
17 See footnote # 11.
18 See X"w1mn and TM7NT WM XN # 69-70.
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